
G
R

U
N

D
W

IS
S

E
N

 8
. K

LA
S

S
E

 
 

A
u

fg
a

b
e

 1
/1

7
 

 

 

F
u

n
k

&
o

n
e

n
 

a
) 

B
e

g
rü

n
d

e
, w

a
ru

m
 d

e
r a

b
g

e
b

ild
e

te
 G

ra
p

h
 

 
zu

 e
in

e
r F

u
n

k
8

o
n

 g
e

h
ö

rt. 

b
) 

E
rg

ä
n

ze
 d

ie
 zu

g
e

h
ö

rig
e

 W
e

rte
ta

b
e

lle
 

 
v
o

llstä
n

d
ig

.  

 

x 
−
1

 
 

0
 

y
 

 
−
2

 
 

 
 

x
 

y
 

G
R

U
N

D
W

IS
S

E
N

 8
. K

LA
S

S
E

 
 

A
u

fg
a

b
e

 2
/1

7
 

 

 

Lin
e

a
re

 F
u

n
k

&
o

n
e

n
 

 a
) 

Z
e

ich
n

e
 d

ie
 G

e
ra

d
e

 f m
it d

e
m

 F
u

n
k
8

o
n

ste
rm

 f (x
)
=
−

!"
x
+
3

  in
 e

in
 

 
K

o
o

rd
in

a
te

n
sy

ste
m

, o
h

n
e

 P
u

n
k
te

 zu
 b

e
re

ch
n

e
n

. 

b
) 

G
ib

 d
e

n
 F

u
n

k
8

o
n

ste
rm

 e
in

e
r G

e
ra

d
e

 g
 a

n
, d

ie
 p

a
ra

lle
l zu

r G
e

ra
d

e
 f v

e
rlä

u
P

  

 
u

n
d

 d
u

rch
 d

e
n

 P
u

n
k
t .

(0
|−

2
) g

e
h

t. 

 
 

G
R

U
N

D
W

IS
S

E
N

 8
. K

LA
S

S
E

 
 

A
u

fg
a

b
e

 3
/1

7
 

 

 

Lin
e

a
re

 F
u

n
k

&
o

n
e

n
 

 B
e

s8
m

m
e

 re
ch

n
e

risch
 d

ie
 F

u
n

k
8

o
n

sg
le

ich
u

n
g

 e
in

e
r G

e
ra

d
e

 g
, d

ie
 d

u
rch

 d
ie

 P
u

n
k
te

  

2
(−

1
|3
) u

n
d

 3
(3
|−
7
) g

e
h

t. 

 
 

G
R

U
N

D
W

IS
S

E
N

 8
. K

LA
S

S
E

 
 

A
u

fg
a

b
e

 4
/1

7
 

 

 

Lin
e

a
re

 F
u

n
k

&
o

n
e

n
 

 B
e

s8
m

m
e

 re
ch

n
e

risch
 d

e
n

 S
ch

n
iR

p
u

n
k
t S

 d
e

r b
e

id
e

n
 G

e
ra

d
e

n
 g

 u
n

d
 f m

it d
e

n
 

F
u

n
k
8

o
n

ste
rm

e
n

 g
(x
)
=

"!
x
+
1

 u
n

d
 :
(;
)
=
−

#!
;
+
3

. 

 
 



G
R

U
N

D
W

IS
S

E
N

 8
. 

K
LA

S
S

E
 

 
Lö

su
n

g
 1

/1
7

 

 

 

F
u

n
k

&
o

n
e

n
 

 a
) 

Je
d

e
m

 x
-W

e
rt

 w
ir

d
 g

e
n

a
u

 e
in

 y
-W

e
rt

 z
u

g
e

o
rd

n
e

t.
 

 
O

D
E

R
: 

 
Je

d
e

 P
a

ra
ll

e
le

 z
u

r 
y-

A
ch

se
 s

ch
n

e
id

e
t 

d
e

n
 G

ra
p

h
e

n
 g

e
n

a
u

 e
in

m
a

l.
 

 b
) 

 

x
 

−
1

 
−
$
;&

 
0

 

y
 

0
 

−
2

 
−
&

 

  
 

G
R

U
N

D
W

IS
S

E
N

 8
. 

K
LA

S
S

E
 

 
Lö

su
n

g
 2

/1
7

 

 

 

L
in

e
a

re
 F

u
n

k
&

o
n

e
n

 

 a
) 

 

        b
) 
g
( x
)
=
−

! "
x
−
2

 
 

G
R

U
N

D
W

IS
S

E
N

 8
. 

K
LA

S
S

E
 

 
Lö

su
n

g
 3

/1
7

 

 

 

L
in

e
a

re
 F

u
n

k
&

o
n

e
n

 

	 A
ll

g
e

m
e

in
e

 G
e

ra
d

e
n

g
le

ic
h

u
n

g
: 	
	y
=
m
⋅
x
+
t	

S
te

ig
u

n
g

 m
 d

e
r 

G
e

ra
d

e
: 

	m
=

!
"

!
#
=

$
!
%
	$
"

'
!
%
	'
"

=
%
	(
%
	)

)
	%
	(
%
+
)
=

%
+
-

.
=
−
2
,5

   

⟶
y
=
−
2
,5
⋅
x
+
t 

D
ie

 K
o

o
rd

in
a

te
n

 e
in

e
s 

d
e

r 
b

e
id

e
n

 P
u

n
k
te

 e
in

se
tz

e
n

, 
z.

 B
. 

v
o

n
 A

: 

 
3
=
−
2
,5
⋅
(−

1
)
+
t 

 
3
=
2
,5
+
t 

 
t
=
0
,5

 

⟶
y
=
−
2
,5
⋅
x
+
0
,5

 

  

G
R

U
N

D
W

IS
S

E
N

 8
. 

K
LA

S
S

E
 

 
Lö

su
n

g
 4

/1
7

 

 

 

L
in

e
a

re
 F

u
n

k
&

o
n

e
n

 

 A
ll

g
e

m
e

in
e

r 
A

n
sa

tz
: 

g
(x

) 
=

 f
(x

) 

" !
x
+
1
=
−

# !
x
+
3
		

1
,5
x
+
2
,5
x
=
3
−
1
		

4
;
=
2
	

x
=

! $
=
0
,5
			

(x
-K

o
o

rd
in

a
te

 d
e

s 
S
ch

n
iE

p
u

n
k
te

s 
S
) 

;
=
0
,5

  
in

 e
in

e
n

 d
e

r 
b

e
id

e
n

 F
u

n
k
H

o
n

st
e

rm
e

 e
in

se
tz

e
n

, 
z.

 B
. 

?
(0
,5
)
=
1
,5
⋅
0
,5
+
1
=
1
,7
5
			

⟶
S
( 0
,5
| 1
,7
5
) 	

 
 



G
R

U
N

D
W

IS
S

E
N

 8
. K

LA
S

S
E

 
 

A
u

fg
a

b
e

 5
/1

7
 

 

 

Lin
e

a
re

 U
n

g
le

ich
u

n
g

 

 E
rm

iR
le

 re
ch

n
e

risch
 d

ie
 Lö

su
n

g
sm

e
n

g
e

 d
e

r fo
lg

e
n

d
e

n
 lin

e
a

re
n

 U
n

g
le

ich
u

n
g

 in
 

In
te

rv
a

llsch
re

ib
w

e
ise

 (B
=
ℚ
). 

 
3

,5
x
 +

 9
 ³

 6
,5

 –
 4

x
 

  
 

G
R

U
N

D
W

IS
S

E
N

 8
. K

LA
S

S
E

 
 

A
u

fg
a

b
e

 6
/1

7
 

 

 

E
le

m
e

n
ta

re
 g

e
b

ro
ch

e
n

-ra
&

o
n

a
le

 F
u

n
k

&
o

n
e

n
 

B
e

s8
m

m
e

 d
e

n
 F

u
n

k
8

o
n

ste
rm

 d
e

r g
e

b
ro

ch
e

n
-ra

8
o

n
a

le
n

 F
u

n
k
8

o
n

 f m
it 

f (x
)
=

%

&
'
(
+
c
  a

n
h

a
n

d
 d

e
r g

e
g

e
b

e
n

e
n

 E
ig

e
n

sch
a

P
e

n
: 

• 
D

ie
 G

le
ich

u
n

g
e

n
 d

e
r A

sy
m

p
to

te
n

 v
o

n
 G

f  sin
d

 x =
 –

 3
 u

n
d

 y
 =

 –
 1

.  

• 
D

e
r G

ra
p

h
 G

f  v
e

rlä
u

P
 d

u
rch

 d
e

n
 P

u
n

k
t .

(−
1
|4
). 

 
 

G
R

U
N

D
W

IS
S

E
N

 8
. K

LA
S

S
E

 
 

A
u

fg
a

b
e

 7
/1

7
 

 

 

B
ru

ch
te

rm
e

 u
n

d
 B

ru
ch

g
le

ich
u

n
g

e
n

 

 B
e

re
ch

n
e

 u
n

d
 v

e
re

in
fa

ch
e

 so
 w

e
it w

ie
 m

ö
g

lich
. 

 
.
#
	0
	+

#
−

)#
# +

+2
'
  

 
 

G
R

U
N

D
W

IS
S

E
N

 8
. K

LA
S

S
E

 
 

A
u

fg
a

b
e

 8
/1

7
 

 

 

B
ru

ch
te

rm
e

 u
n

d
 B

ru
ch

g
le

ich
u

n
g

e
n

 

 G
ib

 d
ie

 D
e

fi
n

i8
o

n
sm

e
n

g
e

 a
n

 u
n

d
 v

e
re

in
fa

ch
e

 so
 w

e
it w

ie
 m

ö
g

lich
.  

 
:1−

2# ;:
2
	%
	#

2
   

 
 



G
R

U
N

D
W

IS
S

E
N

 8
. 

K
LA

S
S

E
 

 
Lö

su
n

g
 5

/1
7

 

 

 

Li
n

e
a

re
 U

n
g

le
ic

h
u

n
g

 

 3
,5

x 
+

 9
  
³

  
6

,5
 –

 4
x 

|
–

 9
 

3
,5

x 
 ³

  
–

2
,5

 –
 4

x 
 

|
+

 4
x 

7
,5

x 
 ³

  
–

2
,5

 
 

 
|

: 
7

,5
 

x		
³
	−

1 3 

3
=
[–

+ )
;	+

∞
[  

  
 

G
R

U
N

D
W

IS
S

E
N

 8
. 

K
LA

S
S

E
 

 
Lö

su
n

g
 6

/1
7

 

 

 

E
le

m
e

n
ta

re
 g

e
b

ro
ch

e
n

-r
a

&
o

n
a

le
 F

u
n

k
&

o
n

e
n

 

 A
u

s 
d

e
n

 b
e

id
e

n
 G

le
ic

h
u

n
g

e
n

 d
e

r 
A

sy
m

p
to

te
n

 e
rg

ib
t 

si
ch

: 

f( x
) =

/

#
0
)
−
1  

D
ie

 K
o

o
rd

in
a

te
n

 v
o

n
 .
( −

1
| 4
)  

e
in

se
tz

e
n

: 

4
=

1

%
+
0
)
−
1  

  
  

  
  

 |
+

1
 

5
=

1 2
  

  
  

  
  

  
  

  
  

  
  

  
 |
×2

 

a
 =

 1
0

 

⟶
f( x

) =
+
-

#
0
)
−
1  

 
 

G
R

U
N

D
W

IS
S

E
N

 8
. 

K
LA

S
S

E
 

 
Lö

su
n

g
 7

/1
7

 

 

 

B
ru

ch
te

rm
e

 u
n

d
 B

ru
ch

g
le

ic
h

u
n

g
e

n
 

 D
e

r 
H

a
u

p
tn

e
n

n
e

r 
is

t 
2

x
2
. 

.
'
0
+

'
−

) '
#
+

+ 2
'
=

( .
'
0
+
) ∙
2
'
	%
	)
∙2
	0
	+
∙'

2
'
#

=
4
'
#
	 0
	2
'
	%
	5
	0
	'

2
'
#

=
4
'
#
	 0
	)
'
	%
	5

2
'
#

  

 
 

G
R

U
N

D
W

IS
S

E
N

 8
. 

K
LA

S
S

E
 

 
Lö

su
n

g
 8

/1
7

 

 

 

B
ru

ch
te

rm
e

 u
n

d
 B

ru
ch

g
le

ic
h

u
n

g
e

n
 

 E
=
ℚ
∖
{0
;2
} 

: 1
−

2 #
;:
	2%

	#

2
=

#
	%
	2

#
∙

2

2
	%
	#
=

#
	%
2

#
	∙

2

%
( #
%
2
)
=
−

2 #
  

  
 



G
R

U
N

D
W

IS
S

E
N

 8
. K

LA
S

S
E

 
 

A
u

fg
a

b
e

 9
/1

7
 

 

 

B
ru

ch
te

rm
e

 u
n

d
 B

ru
ch

g
le

ich
u

n
g

e
n

 

 G
ib

 d
ie

 D
e

fi
n

i8
o

n
sm

e
n

g
e

 a
n

 u
n

d
 b

e
s8

m
m

e
 d

ie
 Lö

su
n

g
sm

e
n

g
e

. 

 
#
	%
	+

#
	0
	2 =

#
	%
	2

#
  

 
 

G
R

U
N

D
W

IS
S

E
N

 8
. K

LA
S

S
E

 
 

A
u

fg
a

b
e

 1
0

/1
7

 

 

 

B
ru

ch
te

rm
e

 u
n

d
 B

ru
ch

g
le

ich
u

n
g

e
n

 

 B
e

s8
m

m
e

 d
ie

 K
o

o
rd

in
a

te
n

 d
e

r S
ch

n
iR

p
u

n
k
te

 d
e

s F
u

n
k
8

o
n

sg
ra

p
h

e
n

 v
o

n
 

f (x
)
=

)

&
	+
	"
+
2

  m
it d

e
n

 K
o

o
rd

in
a

te
n

a
ch

se
n

. 

 
 

G
R

U
N

D
W

IS
S

E
N

 8
. K

LA
S

S
E

 
 

A
u

fg
a

b
e

 1
1

/1
7

 

 

 

Z
u

fa
llse

x
p

e
rim

e
n

te
 

 Z
w

e
i W

ü
rfe

l m
it d

e
n

 A
u

g
e

n
za

h
le

n
 1

 b
is 6

 w
e

rd
e

n
 g

le
ich

ze
i8

g
 g

e
w

o
rfe

n
. E

s h
a

n
d

e
lt 

sich
 d

a
b

e
i u

m
 e

in
 La

p
la

ce
-E

xp
e

rim
e

n
t m

it d
e

m
  

E
rg

e
b

n
isra

u
m

 Ω
=
{ (1

|1
);	 (1

|2
);…

;	 (6
|6
)}. 

a
) 

B
e

tra
ch

te
t w

ird
 d

a
s E

re
ig

n
is A

: „D
ie

 A
u

g
e

n
su

m
m

e
 d

e
r b

e
id

e
n

 A
u

g
e

n
za

h
le

n
 ist 8

.“ 

 
G

ib
 A

 in
 M

e
n

g
e

n
sch

re
ib

w
e

ise
 a

n
 u

n
d

 b
e

re
ch

n
e

 d
ie

 W
a

h
rsch

e
in

lich
ke

it  

v
o

n
 A

 in
 %

. 

b
) 

D
a

s E
re

ig
n

is B
 (b

e
i o

b
ig

e
m

 Z
u

fa
llse

xp
e

rim
e

n
t) h

a
t d

ie
 W

a
h

rsch
e

in
lich

ke
it 

))
. .  

 
F
o

rm
u

lie
re

 e
in

 d
a

zu
 p

a
sse

n
d

e
s E

re
ig

n
is m

it W
o

rte
n

. 

 
 

G
R

U
N

D
W

IS
S

E
N

 8
. K

LA
S

S
E

 
 

A
u

fg
a

b
e

 1
2

/1
7

 

 

 

Z
u

fa
llse

x
p

e
rim

e
n

te
 

 E
in

e
 1

-E
u

ro
-M

ü
n

ze
 w

ird
 d

re
im

a
l h

in
te

re
in

a
n

d
e

r g
e

w
o

rfe
n

, e
s e

rsch
e

in
t e

n
tw

e
d

e
r 

„W
a

p
p

e
n

“ (W
) o

d
e

r „Z
a

h
l“ (Z

). E
s h

a
n

d
e

lt sich
 d

a
b

e
i u

m
 e

in
 La

p
la

ce
-E

xp
e

rim
e

n
t. 

a
) 

B
e

s8
m

m
e

 m
it H

ilfe
 e

in
e

s v
o

llstä
n

d
ig

e
n

 B
a

u
m

d
ia

g
ra

m
m

s d
ie

 W
a

h
rsch

e
in

lich
ke

it 

fü
r d

a
s E

re
ig

n
is E

: „g
e

n
a

u
 zw

e
im

a
l Z

a
h

l“ in
 %

. 

 
K

e
n

n
ze

ich
n

e
 d

a
zu

 a
lle

 P
fa

d
e

, d
ie

 zu
 E

 g
e

h
ö

re
n

. 

b
) B

e
tra

ch
te

t w
ird

 je
tzt d

a
s E

re
ig

n
is F

: „m
in

d
e

ste
n

s zw
e

im
a

l W
a

p
p

e
n

“. 

 
F
o

rm
u

lie
re

 d
a

s G
e

g
e

n
e

re
ig

n
is v

o
n

 F
 m

it W
o

rte
n

. 

 
 



G
R

U
N

D
W

IS
S

E
N

 8
. 

K
LA

S
S

E
 

 
Lö

su
n

g
 9

/1
7

 

 

 

B
ru

ch
te

rm
e

 u
n

d
 B

ru
ch

g
le

ic
h

u
n

g
e

n
 

 E
=
ℚ
∖{

–2
;0
}  

#
	%
	+

#
	0
	2
=

#
	%
	2

#
  

(x
	–
1
)	

×
		x
	
=
	(
x
	–
2
)
⋅	
(x

+
2
) 

x
2
	–
	x
	
=
	x

2
	–
	4

 

x
	
=

	4
 

3
=

{4
} 

 

 
 

G
R

U
N

D
W

IS
S

E
N

 8
. 

K
LA

S
S

E
 

 
Lö

su
n

g
 1

0
/1

7
 

 

 

B
ru

ch
te

rm
e

 u
n

d
 B

ru
ch

g
le

ic
h

u
n

g
e

n
 

 S
ch

n
iE

p
u

n
k
t 

m
it

 d
e

r 
x-

A
ch

se
: 

 

)

&
	+
	"
+
2
=
0  

)

&
	+
	"
=	
–2

  

1	
=	
–2

×
(x
	–
	3)

 

1
=	
–2

;+
6 

–5
	=

	–
2x

 

x=
2,5

⟶
S &
( 2
,5|
0)

  
  

S
ch

n
iE

p
u

n
k
t 

m
it

 d
e

r 
y
-A

ch
se

: 

f(0
)=

)

,
	+
	"
+
2
=
−

) "
+
2
=
1! "

⟶
K -

L0
M1

! "
N  

  
 

 
 

G
R

U
N

D
W

IS
S

E
N

 8
. 

K
LA

S
S

E
 

 
Lö

su
n

g
 1

1
/1

7
 

 

 

Z
u

fa
ll

se
x
p

e
ri

m
e

n
te

 

 a
) 
A
=
{( 2

| 6
) ;	
( 3
| 5
) ;	
( 4
| 4
) ;	
( 5
| 3
) ;	
( 6
| 2
) }.

 

 
P(
A)

=
| 0
|

| 1
|
=

# "
2
≈
13

,9	
%

 

b
) 

zu
m

 B
e

is
p

ie
l 

B
: 

„D
ie

 A
u

g
e

n
su

m
m

e
 i

st
 3

.“
 (
	P(

B)
=

| 3
|

| 1
|
=

! "
2
=

) )
.
	) 

  
 

G
R

U
N

D
W

IS
S

E
N

 8
. 

K
LA

S
S

E
 

 
Lö

su
n

g
 1

2
/1

7
 

 

 

Z
u

fa
ll

se
x
p

e
ri

m
e

n
te

 

a
) 

D
re

i 
v
o

n
 d

e
n

 a
ch

t 
m

ö
g

li
ch

e
n

 g
le

ic
h

w
a

h
rs

ch
e

in
li

ch
e

n
  

 
P

fa
d

e
n

 g
e

h
ö

re
n

 z
u

 E
, 

d
e

sh
a

lb
 

 
P(
E)

=
| 4
|

| 1
|
=

" .
=
37

,5	
%

 

b
) 
FY :	

h
ö

ch
st

e
n

s 
e

in
m

a
l 

W
a

p
p

e
n

 

 
 



G
R

U
N

D
W

IS
S

E
N

 8
. K

LA
S

S
E

 
 

A
u

fg
a

b
e

 1
3

/1
7

 

 

 

Lin
e

a
re

 G
le

ich
u

n
g

ssy
ste

m
e

 

 B
e

s8
m

m
e

 re
ch

n
e

risch
 d

ie
 Lö

su
n

g
sm

e
n

g
e

 d
e

s fo
lg

e
n

d
e

n
 lin

e
a

re
n

 G
le

ich
u

n
g

ssy
ste

m
s 

m
it e

in
e

m
 Lö

su
n

g
sv

e
rfa

h
re

n
 d

e
in

e
r W

a
h

l. 

 
 

(I )
	−

5
x
−
2
y
=
1
0

 

 
 

(II )					2
x
+
4
y
=
8

 

 
 

G
R

U
N

D
W

IS
S

E
N

 8
. K

LA
S

S
E

 
 

A
u

fg
a

b
e

 1
4

/1
7

 

 

 

Lin
e

a
re

 G
le

ich
u

n
g

ssy
ste

m
e

 

 M
it d

e
r n

e
b

e
n

ste
h

e
n

d
e

n
 Z

e
ich

n
u

n
g

 so
ll e

in
 

lin
e

a
re

s G
le

ich
u

n
g

ssy
ste

m
 g

ra
p

h
isch

 g
e

lö
st 

w
e

rd
e

n
. 

G
ib

 e
in

 p
a

sse
n

d
e

s lin
e

a
re

s G
le

ich
u

n
g

ssy
ste

m
 

m
it d

e
r zu

g
e

h
ö

rig
e

n
 Lö

su
n

g
sm

e
n

g
e

 a
n

. 

 
 

G
R

U
N

D
W

IS
S

E
N

 8
. K

LA
S

S
E

 
 

A
u

fg
a

b
e

 1
5

/1
7

 

 

 

K
re

is, P
rism

a
 u

n
d

 Z
y

lin
d

e
r 

 D
e

r A
n

sto
ß

k
re

is in
 e

in
e

m
 F

u
ß

b
a

llfe
ld

 h
a

t e
in

e
n

 U
m

fa
n

g
 v

o
n

 2
8

,7
5

 m
. 

B
e

re
ch

n
e

 n
a

ch
v
o

llzie
h

b
a

r d
e

n
 R

a
d

iu
s u

n
d

 d
e

n
 F

lä
ch

e
n

in
h

a
lt d

ie
se

s K
re

ise
s.  

R
u

n
d

e
 d

e
n

 R
a

d
iu

s a
u

f d
re

i D
e

zim
a

lste
lle

n
 u

n
d

 d
e

n
 F

lä
ch

e
n

in
h

a
lt a

u
f e

in
e

. 

G
R

U
N

D
W

IS
S

E
N

 8
. K

LA
S

S
E

 
 

A
u

fg
a

b
e

 1
6

/1
7

 

 

 

K
re

is, P
rism

a
 u

n
d

 Z
y

lin
d

e
r 

 D
ie

 A
b

b
ild

u
n

g
 ze

ig
t d

a
s S

ch
rä

g
b

ild
 e

in
e

s P
rism

a
s. 

B
e

re
ch

n
e

 d
e

n
 O

b
e

rfl
ä

ch
e

n
in

h
a

lt u
n

d
 d

a
s V

o
lu

m
e

n
 d

ie
se

s P
rism

a
s. 

  
 

4
 c

m
 

6
 c

m
 

5
 c

m
 

3
 c

m
 



G
R

U
N

D
W

IS
S

E
N

 8
. 

K
LA

S
S

E
 

 
Lö

su
n

g
 1

3
/1

7
 

 

 

Li
n

e
a

re
 G

le
ic

h
u

n
g

ss
y
st

e
m

e
 

 Z
u

m
 B

e
is

p
ie

l 
m

it
 d

e
m

 E
in

se
tz

u
n

g
sv

e
rf

a
h

re
n

: 

 
a
u
s	
( I
I)
			
		x

+
2
y
=

4
 

 
 

( I
I)
5
			
	x
=

−
2
y
+
4

 
  

( I
I)
5
	i
n
	(
I)
		
−
5
⋅
(−

2
y
+
4
)
−
2
y
=

1
0

 

 
 

 
 

 
1
0
b
−
2
0
−
2
y
=

1
0
		/
	+
2
0

 

 
 

 
 

 
8
y
=

3
0
			
/
	∶
8

 

 
 

 
 

 
b
=

"
, .
=

3
,7
5

 

  
y
	i
n
	(
II
)5
			
	x
=

−
2
⋅
3
,7
5
+
4

 
 

 
 

 
 

x
=

−
3
,5

  
 

 
 

 
 

 
 

IL
=

{(
−
3
,5
| 3
,7
5
) }

 
 

 

G
R

U
N

D
W

IS
S

E
N

 8
. 

K
LA

S
S

E
 

 
Lö

su
n

g
 1

4
/1

7
 

 

 

Li
n

e
a

re
 G

le
ic

h
u

n
g

ss
y
st

e
m

e
 

 M
a

n
 b

e
sH

m
m

t 
d

ie
 b

e
id

e
n

 G
e

ra
d

e
n

g
le

ic
h

u
n

g
e

n
:  

 
( I
) 	
y
=

−
) !
;
+
3

 

 
( I
I)
	y
=

) "
;
+
0
,5

 

  
IL

=
{(
3
| 1
,5
) }

 
(S

ch
n

iE
p

u
n

k
t)

 

 
 

G
R

U
N

D
W

IS
S

E
N

 8
. 

K
LA

S
S

E
 

 
Lö

su
n

g
 1

5
/1

7
 

 

 

K
re

is
, 

P
ri

sm
a

 u
n

d
 Z

y
li

n
d

e
r 

  
u
6
=

2
π
r	
			
| 	
∶
(2
E
) 

 
r
=
	7
%

2
8
=

2
4
,(
:
	;

2
8

≈
4
,5
7
6
	m

 

 
A
6
=

π
r2

=
π
⋅
( 4
,5
7
6
	m

)2
≈

6
5
,8
	m

2
 

 
 

G
R

U
N

D
W

IS
S

E
N

 8
. 

K
LA

S
S

E
 

 
Lö

su
n

g
 1

6
/1

7
 

 

 

K
re

is
, 

P
ri

sm
a

 u
n

d
 Z

y
li

n
d

e
r 

 O
6
=

2
⋅
G
+
M

=
2
⋅
) !
⋅
3
	c
m

⋅
4
	c
m

+
( 3
	c
m

+
4
	c
m

+
5
	c
m
)
⋅
6
	c
m

=
8
4
	c
m

!
  

V
6
=

G
⋅
h
=

) !
⋅
3
	c
m

⋅
4
	c
m

⋅
6
	c
m

=
3
6
	c
m

"
  

 
 



G
R

U
N

D
W

IS
S

E
N

 8
. K

LA
S

S
E

 
 

A
u

fg
a

b
e

 1
7

/1
7

 

 

 

K
re

is, P
rism

a
 u

n
d

 Z
y

lin
d

e
r 

 E
in

 Z
y
lin

d
e

r h
a

t e
in

e
n

 R
a

d
iu

s v
o

n
 2

 cm
 u

n
d

 e
in

e
 H

ö
h

e
 v

o
n

 5
 cm

. 

a
) 

Z
e

ich
n

e
 e

in
 S

ch
rä

g
b

ild
 d

ie
se

s Z
y
lin

d
e

rs. 

b
) 

B
e

re
ch

n
e

 d
e

n
 O

b
e

rfl
ä

ch
e

n
in

h
a

lt d
ie

se
s Z

y
lin

d
e

rs e
xa

k
t u

n
d

 v
o

llstä
n

d
ig

 

 
v
e

re
in

fa
ch

t. R
u

n
d

e
 a

n
sch

lie
ß

e
n

d
 a

u
f e

in
e

 D
e

zim
a

lste
lle

. 

 
 



G
R

U
N

D
W

IS
S

E
N

 8
. 

K
LA

S
S

E
 

 
Lö

su
n

g
 1

7
/1

7
 

 

 

K
re

is
, 

P
ri

sm
a

 u
n

d
 Z

y
li

n
d

e
r 

 a
) 

 

        b
) 

D
ie

 M
a

n
te

lfl
ä

ch
e

 d
e

s 
Z
y
li

n
d

e
rs

 i
st

 e
in

 R
e

ch
te

ck
  

m
it

 d
e

n
 S

e
it

e
n

lä
n

g
e

n
 2
⋅
π
⋅
r 

u
n

d
 h

. 

 
O
7
=
2
⋅
G
+
M

=
2
⋅
π
⋅
m
!
+
2
⋅
π
⋅
r
⋅
h
=
2
⋅
π
⋅
r
⋅
( r
+
h
)  

 
 

=
2
⋅
π
⋅
2
	c
m
⋅
( 2
	c
m
+
5
cm

)
=
2
8
π
	c
m
!
≈
8
8
,0
	c
m
!

 

 

 


